ZENTRALES EBENES KRAFTSYSTEM

BEISPIEL.:

GEG: F1=5kN ; a1=60°
F2=4kN ; a2=15°

GES: R (rechnerische Methode)

KRAFTSYSTEM

KRAFTEZERLEGUNG
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F1 F1ly F1x =F1 . cos(al) =5 . cos(60°) = 2,50kN

[

F1x

F1y =F1.sin(al) =5 . sin(60°) = 4,33kN

/%Fz F2x = F2 . cos(a2) = 4 . cos(15°) = 3,86kN
73! ™Y F2y=F2.sin(a2) =4.sin(15°) = 1,04kN

F2x
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R
Ry=F1y+F2y
o o
Rx=F1x+F2x
KM [ [ by [ ]
0 1 2 3 4 5kN
Rx =F1x + F2x = 2,50 + 3,85 = 6,35kN
Ry = Fly + F2y = 4,33 + 1,04 = 5,37kN
R =|/Rx?+ Ry?=|/6,35” + 5,37% = 8,32kN
o = atn (JRy| / |Rx| ) = atn ( 5,37 / 6,35) = 40,22°
KM 1kN=1cm
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